Directions: Fill in the blanks (Q. No. 1 to Q. No. 3)
. [ranasfastas! could, | was frightened. . o,
1) and 2) but 3)so 4) because.

2. Isawa__ ofbirds in the sky.
1) herd 2) flock 3)group ;- o .. 4)swarm ‘.
3. Please  aboutit e R 5P v 5. T
1) thinks 2) thinked 3) think 4) thinker
4. Choose the correct sentence: = =~ . e ST v il
1) When I get older, I will be able todrive. -~ =i 0 . TS
2) When I get older I will be able to drive. '
3) When, I get older, 1 will be able to drive. v B OT 5T TN
-4) When I get older I will be, able to drive. -« 7~ " R H

| 5. What is the opposite of 'borrow'? | ﬁ
. 1)Give 2) Lend 3) Get
6. Past tense of i;Fry' 1S | " . | i

1) Tired = 2) Treid 3) Trivé. d T o .&).Tryied .

P N . ®
] - ., v ‘ '. .‘ !
4 A . | )
ol : :

1 '«- " 'S : o SEASED
| 4) Take
' 2 g Yk

| 7. Find the correctly spelt word. - o
1) Traditional 2) Tradisnal  3) Tredifional - = 4) Traditonal * -
8. 'Aired' means: - I | _. A
- DFlying 2) Transporting 3) Keeping Private - 4) Make Public
9. Match the Column I &I ERE R

- Column -1 | o Column — H e i v o

(i) Row | J(a) Plane

(i1) Stamp _ (b) Train o
| .(iii) Fly' SEREMEY o B (c ) Boat ORI IR L M S

(iv) Drive (d) Feet

(v) Chug () Car. . .. oo
(1) (i)-c, (ii)-d, (iii)-e, (iv)-b,(v)-a ~ (2)  (1)-c, (1)-d, (iii)- a, (iv)- e, (V)- b
(3) (1 )'C ’ (ll)-b ’ (lll)- a, (iV)- C, (V)' d (4) (i)-C ’ (ll)-d, (lll)- d ’ (IV)- (.i’ (V)' C .

.‘..

N d+ o ‘v
e ,.: T‘:'..‘o

10. Find the odd one out:
| 1) Rabbit 2) Squirrel 3) Forest i e . 4) Mouse

vy




2. frffEa TR A g IR A E ? =
1) HIgEA 2) FIgEA  3) DI 4)5@3?{

13 GRHFTH WA TR EEE IR Y 159 a9 d oo g sl | &
1) §IE, TR 2) Y9, WA 3) T zlq4)z?a»°r g

14. ‘7’ wf3 F1 9 STARY WE M ? o
1) 3 2) 1Y 3)%W 47w

15. FA A AT F IS TIRAIR ?
1) T9 7 T qa 3R S Y&ih @Sl |
2) U9 3 TF I 3R < G&ih G| |
3) T 7 U Ao 3R T TS !
4) T 7 T Ia 3R i @l |

.16. = | e wsg @ :- | |
1) 3YEH 2) F{iten 3) ®EERt  4) ST

17. = H 1w @ o= g’ w1 gamede 1w 22
1) THAREA 2) TRl 3) gfEER 4) AEITEH

18. rzmmmﬁﬁwﬁw%wﬁﬁmaﬁwﬂﬁ%mmﬁﬁm

a;n-{-é:’[gﬂ”
Sﬂmﬁ‘m'mmww%?
1) I9& 2) d 3) 2 4) G




21, TH THASR R 1750 T F uw Faff A=ty 21. A shopkeeper sold a chair for T1750 which

8 31 1900 T 9 @Ue o1 ot 3| C i he bought for ?; 9h00 a]:ul. srl);:nt ?250hon tl;f:
* S CEE transportation of that chair. Hiow much proii
H 39 ﬁm:: 2w R v 8 /lose did he incur in this transaction?
_ﬂm?ﬂﬂﬁg? 1) 150% 2) 400X
DT 2 g S
. 410N 22. The Centre for Health and Wellness
22, HEHR ¥4 G e ferwfee woeen & o .
3 | recommends that each child consume 22
e T G 277 e v, Qe 7

:
| ol W R T — ehe

1 4 R ST T A A S

litres of water in the morning, l-é' litres 1n

-2-' litre before bed.

According to them, how much water 1s

the afternoon, and

| ' ; ‘ ilv?
forae T I Y e < S 22 advised to a child to drink daily
1) S—é-tfﬂz( ~ 2) 57 i . 1) 03 Litre 2) 57 Litre
i ' 1 | 3) 4§ Litre 4) 6-5 Litre
3) 4-§'Q"ﬁ?.'{ 4) GS-EﬁZ'{ . ‘ |
a4 .« 23.Meerareads 3- part of total pages of a book.
3 |

. 23, HII U QK6 & Pl &I H rE

Tedt 1 wAfeRa onft oft foparar & 80 T

e ST € | TF H YOI Bl H Wl
a0 HiTeIg |

But there are still 80 pages of the book left

‘to be read. Find the total number of pages in
+ the book.

_ 1) 250 2) 100
1). 250 2) 100 -\ 3) 150 4) 200
3) 150 4) 200 24. Find the smallest number which when
14, TE TIY BE A& TN Fifse i1 25, 40 divided by 25, 40 and 60‘ leaves remainder 7
méoaﬁwwmmf@mﬁﬁ7 ~ineach case. .
3 = © | ~ - 1) 609 2) 610
1) 609 2) 610 3) 607 4) 608
3) 607 4) 608




25. S §, e 18 e v T | e 9
¥ 30 &1 57 15 fire =61 gma orar o | &9
R TEH F 3 Tt oM ol 9 H T
a1 w9 & ?
1) 8 g 30 fire
2) 9 82 30 e
3) 8 &2 45 fie
4)9€e

26. T 520 T BY2 T FHE A 580 TA
B AT Fehs & WY fireman T | T
1 fafga swg & 5 Yl # 99 w9 9
ﬁﬁﬁamlmﬁzﬁﬁfaﬁmm
aoq, framm d s 8?
1) 220 fwamm . -2)0..220Faaeﬁcrrq
3) 0.022 faum®  ~ 4) 0.02 freI™

1,00,000 & fameas AfeFs 1,00,000 9
Aty i T fFuifa w8, 15 3R
21 H 9% | goia: favsa g1

1) 100200 2) 100400

3) 100800 4) 240800

28. T e 8T |, Tﬁmﬁai%rmﬁ7m
- 3y g R, Srafe weht 3 wfaar | 12
3% HH < fond 1 afe 99 g0 9 37l
1 A 265 @, A JaC & @et 7 fFaa
3k g1 foma ?
1) 90 2) 102
3) 97 4) 78

29. SHER YEE T TH YT 21 HX §1 TH
HTAAHR JES il AT 56 TAR JEe
% WA B | A STIAHR @S H e
31.5 W 2, Eﬁamam%{@gaﬁaﬁag

27.

i

T L |
1) 140 ¥, 2) 14 Ht,
3) 145 H. 4) 21 4.

L

25,

Vivek went to school for 18 days in July, 1; §
" took him 15 mintue everyday to go to schoo], |

[How much time did he take to go to and from, §

" gchool in this whole month ?

)8 hours 30 minutes
2) 9 hours 30 minutes
3) 8 hours 45 minutes

-~ 4) 9 hours -

26 A total of 520 grams of small pmk pebbles §

DO v 0 N e i v v

~ were combined with 580 grams of small

purple pebbles. Mamta evenly distributed the } |

mixed pebbles into 5 packets. What is the §

weight, in kilograms, 'of the mixed pebbles

in each packet?
- +1) 220 kilograms

3) 0.022 kllograms ~ 4)0.02 kilograms

27. Determine the number nearest to 1,00,000 {
but greater than 1,00,000 which 1s exactly g3

divisible by each of 8, 15 aind 21 ?
1) 100200 2) 100400

3) 100800 - - 4).240800

28. In a class test, Rashmi scored 7 marks more §
. than Kavita, while Sakshi scored 12 marks §

-2) 0.220 kilograms

“‘- '.. .

less than Kavita. If the sum of the marks §

oo many rnarks dld Saksh1 scored ‘7 '

1) 90
3) 97

2) 102
4)78

29. A side of square plot is 21 meters. The area

~ of a rectangular plot is same as that of thc
, . Square plot. If length of the rectangular plot

"1s 31.5 meters, then find the brcadth of the ;
rectangular plot.

1) 140 m
3) 145 m

2) 14 m
4)21l m

+,- obtained by all three is 265, determine how §
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R e =t wun W 9 0.09 Hiew atfues
R Ak fafu &Y su 154 e }, W@
few =t =g T w2

1) 1.74 9. 2) 1.6 Hl.

3) 0.65 Hl. 4) 0.74 4,

31, Frafafe § @ o9 @ wo w@ 2 2

32:

33

34. @%‘ﬂﬁewrsm B €, A | 45%

30,

1) T&F 9T g faun gt £

2) TF H HE I B R

3) QA faun dEmstt @ am wia e 2 )

4) QTS X el o UE W UE N S
Tl H TH 1 T R S ¢ |

X0 A A% 8:40 TS HENG Q HARH F
fou 99 <t 9ETe /@ [ F W 7

o'ﬁmmlﬁmarsaﬁm%ﬁmsﬁ
99 T 9 A1 AU 999 & far S 98l

59 & fau forat <X O a9k ST 9817
1)4‘sfq=iz 2)3sfq=|2:
3) 2sﬁ=ﬁz 4) SSfFFE

3) 25 mlnutes b

30. &0 AR fAftr &t =g @1 A 3.9 Hier 30. The sum of Karan's and Nidhi's height is 3.19

meters. Dinesh's height i1s 0.09 meters more
than Karan's height. If the height of Nidhi 1s
1.54 m, then find the height of Dinesh?

2) 1.6 m
4) 0.74 m

1) 1.74 m
3) 0.65m

31. Which of the following statement is correct?
1) Every prime number is odd.
> 2) Every even number is composite.

3) The sum of two odd numbers is always
odd. .

4) The H.C.F. of two given numbers is
always a factor of their L.C.M.

32. Varuntook a bus from Chandigarh to Manali

at 8:40 A.M. The journey from Chandigarh

""" to Manali was of 7 hours. At 3:15 P.M,,

Varun's father came to pick him up from the
bus stand. How long did Varun's father have
to watt for the bus there?

2) 35 minutes
4) 55 mmutes

1) 45 mrnutes

WQWWW%W WW 33. Manoj completes four laps around a

o R fopu, fomaent o 65 et iR -

_aﬁe@ssqﬁa%lmmmﬁﬂﬁﬁ

T frat g 2 .
1) 800 HI. 2) zéovﬁ
3) 140 HI. 4)-400 |I. -

%lmﬁmﬁmmml

1) 675 2) 825
3) 600 4) 775
g IR Y TR TR TRl ST GAT:-

[45+(80+16+4%2)]-12+3

1)54 2)59 3)43 4)47

* rectangular park that measures 65 meters in

~ length and 35 meters in width. What is the
- total drstance covered by Manoj?

. 1)800.m

-2)260m

3)140 m 4)400m

ag%; 34. There are a total of 1500 students in a school,

out of which 45% are boys Find the number
of girls in the schoal. -

1) 675
©3) 600

" 2) 825
4) 775

35 Choose the correct answer after srmphfymg

this equation: -
[45+(80+16+4%2)]-12+3

)54 2)59 3) 43 4)47




36.

37

38.

39.

40.

| T fes @ 45 Ha Freey, 30 IR 36. Sonu took out 45 oranges from a box, shared }

30 equally among three friends, and then;

QI 3 st e, 3 R e 2 9 2 Hl ok back 2 from each fricnd. How many

1
:
£
L)
A
Ll

A O e | 9 e 7 R e 2 oranges did Sonu have now? i
1) 19 2) 21 1) 19 2) 21 ;
i 427 3) 24 427 ;
N S F R A e s Y s 2 ooy 37. Gautam takes S hours to paint a wall and "

Gambhir takes 6 hours to paint the same wall, -

g 3R TR i 38 SR W Yz TR A 6 .
: : . If they work together, how long will they take i
RAMTIARIATHE I FH AL, A saint the wall?

3R AR A Yo @ B foraen qug aim? - ' p
2
‘1) 2— Hour 2) 2— Hour
1) 2z Yo 2) ziq% b 11 11
11 | 11 | |
o ‘ 3 2> H 4)25 H
' ' 5l ur .. 110Ur
3) 21—8121% 3) 2-1—51%1% - S Th . ;

T 37‘19{ T 8% e A ST UT4500 T 38. Ram has borrowed T 4500 at a rate of 8%

YR | 8 WM per annum from his friend. How much
ik oS S A firt amount he has to pay to his friend after 8

WWWWWW? | months? | |
Ay 2) 4740% 1) 4470 nT4740 - 4
3) 3440 2 4) 4070 2 3) T 3440 4)T 4070 |

Afed 7 31 1 T e wler 1Y s 39. Mohit bought a packet of flour. He used
3 3 s

5 & % yh W sRme fwar qfe 5 of it in baking the cake. If he still has

39k 9 3 ot 500 IW R, Awwd 500 grams of flour left, what was the weight
S 372 1 Yohe wier o Sqa EELAETEIE of the packet of flour he bought? -

1) 17l 500 7™ 2) 1 favelr 200 T 1) 1 Kg 500 gram 2) 1Kg 200 gmm:
3) 1 frel 250 M 4) 1 el um 3) 1 Kg 250 gram 4 1Kg .

T HIRIC o 3T % &7 2078 wimif % 40. 2078 people visi
: . pie visited :

FHHT QI 156 | T IR AR e, formey s opening day. On thg setnlzlc‘;:ng1 usfim}]]]' an s
o A e i s1e @y i 2umber of people increased b>t' 516 dx?g; ‘
35 T ) A 7 i o = e 1140 co;;a(;ritslggrteél t;lo the previous day. In
ST A 3T | e fem o) St gt people ¢ third day, 1140 more

: H GE& PI€ came on the fourth g |
N ok A A wew A A o O e swmber

1) 2053 %) aoyEy i);;glse?)who “ame to the museum 2
2

3) 20500 4) 20352 3 20500 2) 20252

4) 20352




41, ﬁgﬁm'ﬂmgw T &Y anqrtriﬁt 41. How many hours does a sloth bear hanging

R gfaf< fras =2 @ 2 upside down from a tree typically sleep per
1) 16 52 2) 17 &2 .
1) 16 hours 2) 17 hours

3) 18 ©2 4) 20 H2 3) 18 hours 4) 20 hours
2. Trefafea 9 | fog wom w d@m smaf 42- In which of the following places, people
‘ 1 ST A RETSIE E | 'qg'.a" TEQ? cannot cause harm to animals or forests?

1) ¥H1 (TS AYES 9 1) Ghana (Rajasthan) National Park

2) 9 =ide e o - 2)Jim Corbett National Park

3) A (1) M (2) e 3) Both (1) and (2) |

4)Eﬁﬁaﬁ§‘ﬁﬁ A - 4) None of the above B
43, Trafafea o @ ffes e & ofieiftes 43. Who among the following won the Olympic
- TS SR b . ] Medal in Weight Lifting?

1) T fafeame 2) saen 1) Sunita Williams 2) Jwala

3) Wi 4) Foim Tedv 3) Wahida Prism  4) Karnam Malleswari

44, YR “Teped-ya” e wel feuw f7?
1) dgd - 2) 39H
3) e wew  4) fafssw -

45, ‘mimai’ B wewic ek Y ¥ fau 45. Which among the foll.owing is a shelter house
for goats and sheep in ‘Changthang’?

44. Where is “Skitpo-pul” village located in India?

1) Ladakh 2) Assam
3) Himachal Pradesh  4) Sikkim

freafafea A A A TN T/R?
N ' | - 1) Stable . 2) Cave
'Fd S 2) T 3) Lekha * 4) Rebo
L 3) e 4) @ '
46, FITER T T W T G THE I RN 46. Which term is used for the beautiful wood
- ¥ foru forg g AT foRar S ® 2 carvings done on the ceilings of houseboats?
, : | 1) Khatamband 2) Donga
1 2) S
) GaHEg ) 3)Dab - 4) Mehraab
3) &4 - 4) W

47, O 1 A2 TUE R 39 frafafad ¥ ¥ 47. Reema has an upset stomach. Which of the
1 ot feg < 9t =fET aifer 39+ TR following drips should be given to her so that

) her body can get 1 d

: y get immediate energy and
F1 qia el SR areRd el e e
1) @R 9t Hit g9 2) wﬁilﬁl @q 1) Salt Water Drip 2) Glucose Drip
3) @A i fgu 4) IYUH Skl 3) Blood Drip 4) All of the above




48, ‘3o @ ared ‘S ¥ ) e e R T 48,

HR?

1) Ot

2) WSt
T 3) dfire

4) GSIeit

ﬁwﬁﬁﬁaﬁﬁ‘éﬁamsﬂa%aﬁm 49.
TR SR el # e o @ e gfie

wiifir €t & et e, g ik T A
1)31'3733 e 2) facet

3) & 4) fowmet

50. JE g T 71 e % Ferg P Mg

?ﬁ%mﬁﬁﬁwﬁ@ﬁamﬁmqﬁ
7 e,

49.

50.

©3) o e i frer o At e vw
Wﬁwaﬂaﬁmm%l

51. ﬁmﬁrﬁaaﬁﬁaﬁwmmw,{ﬁ%7 51,

AU

Z)Wm%mﬁﬂqaﬁw
m%aﬁtmqumm%l

. - . touch and taste?. . .-

~ context of the law made by the Government ;.

- £ .4": .,\\.,.'.;(?l." .h.'sq'".-, 4

The meaning of ‘Undhiya’ is ‘upside down’
Which language does this word belong to?

VIR 1y RO e

1) Gujarati

2) Marathi
~ 3) Tamil ‘i

4) Punjabl L é

Which of the followmg organisms is usually ‘|
found in farms and houses that has limited -

vision but has very good sensec of smcll,_g |
2) Cat
- 4) Lizard |

1) Cockroach
3) Rat

Which of the following rule is correct in the 3

}
)

{
);’

~”.~

i 3

- for the protection of snakes?
1) Only snake charmers are allowed to keep
snakes.: : : :

. 2) No one can catch and keep snakes P
3) If we find a pmsonous snake, we can il
 remove its poison and release 1t 1

4) People who kill poisonous snakes are é
£

the ;

rewarded.
Choose the mcorrect statement from

fOllOng =




52. e TARE & W H frafafga A Q HF 52, Which of the following statements is correct

|l W TE © 2 about Mount Everest?
1) Hide TR ITEs § feo T 1) Mount Everest is situated in Uttarakhand.
2) TSR U 39 e # 6w uge  2) Bachendri Pal was the first Indian woman
Il Tt WA wigen of | to reach the top of this mountain.
3) T8 o = SR TN 8900 Mzt 3) Theheight of its peak 1s about 8900 meters.
g 4) The height of its peak is about 8900
4) TEH [ 3)5[ SR TN 8900 Gl kllomcters
HER T | | - : : 3
(D) 1,1 @i i " (l) i,ii. - (2)1i, 1
3) il (3) ii; B (3) i, ii, iii (3) ii, iii, iv

3. TrfafEa o | 39 wafm =1 ™ wary
SR W CEws ara s g[a

53. Name the person among the following on
whose birth anniversary the ‘Swachh Bharat

P ? L LE 1+, Mission’ was launched? -
1) TR T - 1) Jawaharlal Nehru
2) §v" | ¥ = R 2) Subhash Chandra Bose -
3) . &l 3R, TeEH :
3) Dr. B.R. Ambedkar
4) i 4) Mahatma Gandhi
ahatma Gandhi
4. Fretfafa 3 & i a0 e e 54. Which of the following is not a safety rul
- T'IT';-:f%7 w5 ; ich oI the Iollowing 1s not a saiety rule
ATl & Bl | to be followed on the road? ‘_
1) 9SH IR HAH ﬁ‘fl’Q ﬁ-‘-’" ﬁﬁ:m @ 1) Use zebra crossing to cross the road.
v | . - 2) Do not run on the road.
2) 9eHh WA a% | '3) The cychst needs not to stop at Red Light
3)maﬁﬁ%mmﬁaw%m  Signal. | |
THAT STEF 6l © | . | . 4) Look both ways before crossing the road.
4) 9SH IR HT | 96 GHI WH @ A | e
' e ﬁ&“ ¥ frog ? - 55. Centre for Environment Educdtion 1s located
‘ | o ati- |
1) semeEre 2) et o 1) Ahmedabad 2) Delhi
3) Halg 4)qa 3) Mumbai 4) Pune

| 56 frefafiaa o Q ferg vah @ eigen ;. 56. The nest of which of the following bird
¥ 1 Tt | Seh Wal 22 usually hangs on the branches of trees?
1) I3 2) SRS
3) a8 4) TSUH (FSHIea)

1) Crow 2) Tailor Bird
3) Sun Bird 4) Woodpecker




57. 3 & forq wiag ‘s=iiw’ frafafaa & @

fora T A frem 2 2
1) STEE

2) SW W39

3) TSR

4) RN

58. UM U9 = forw ¢ 39} 59 @9 &
fere faforean & <ieer goenr fien e waifian

T30 9 Borar © |
1) 1905
3) 1901

2) 1903
4) 1902

59. WRA ® TAY G ‘A’ IR ) Fal

QT e © 2

1) HEEH
2) fafery
3) fa=irw

4) ITMEE

60. @a?wmaﬁa‘maqﬁm?mﬁ%l G|
¥ i dad g9 Wl ], HifE
1) W Q w{ TaA T AT et 9 &

3 @ afyes 2
- 2) 39 9 Fiad o1 A Qe Siad %

A A FHH B

3) 3 9 94 9ae ¥ €T MY YT HI IS
9% 99 9 9gd HH ol ¢

4) Tt dad ¥ €T T 9T 61 a9 396
oo | 9gd HH BT ¢

10

\
3
s

57 ‘Kannauj famous for its perfume 1S located.
in which of the following state?

1) Uttarakhand E’

2) Uttar Pradesh %

3) Gujarat &

4) Maharashtra ,n

58. In which year Ronald Ross received the -
Nobel Prize in Medicine for his discovery |
that malaria is spread by mosquitoes. |

© 1)1905 2)1903 %
3)1901 - 4) 1902

59. Where 1s the rare plant ‘Nepenthes
commonly found in India?

a':-’
1) Meghalaya ?
2) Sikkim o
3) Mizoram i
4) Uttarakhand - i;

60. The empty plastic bottle floats on water. The”
bottle filled with sand sinks, because
1) The volume of bottle filled with sand lS;:

more than the volume of empty bottle. g
~ 2) The volume of bottle filled with sand is Iess..ff?.
than the volume of empty bottle.
3) The weight of water displaced by bottle
filled with sand is much less than it’s
weight.
4) The weight of water displaced by empty
bottle is much less than its weight.




.

W: W WA 61 | UY & 65 ﬁ, I8 Dircctions: In Q. No. 61 to Q. No. 65, choose

the option which completes the given

W?ﬁﬂ@maﬁwmﬁn series
(. 27,22, 18,00, 13, 12 61. 27.22. 18, ... 13, 12
1) 16 0 2)14 ) 16 . 2) 14
3) 15 M 3) 15 4) 11
. 62' 2B, 4D, 6F)...‘: | | 62. 2B’ 4D’ GF’ . .. |
) 716G 2) 8G 7G 2) 8G
) 91 " S 3o 4) 8H
¢. 10,17, 26,37,50,..... . 5. 18 1738, 57,4k w
ST 2)65: 1) 57 - 2) 65
3) 76 - 4)95 . )76 | 4) 95
| 1 1 1 | 1 |
B = )T T, eeeeeeneens — 1 1 1
2’4’8 32 I - e— -
1 1 '
= ‘2] = 1 1
) T6 *) 10 ) = 2) o
1 1 '
3) = 4) — 1 1
T | .) 14 Ao 4) 12
65. CBA,ABC,ABCD, DCBA,ABCDE,?  65. CBA. ABC, ABCD, DCBA, ABCDE, ?
1) DEACB 2) EDCBA 1) DEACB ' 2)EDCBA
3) CABDE 4) BACDE 3)CABDE - 4)BACDE

AT We WA 66 A UTT WG 70 HATWT  Directions: In Q. No. 66 to Q. No. 70, three
mmm%nmm#ﬁéww question figures are given. Below each

f‘agf&—qm% | S A1 S| o question, four answer figures are given.

66.

Select an option amongst the answer

&1 AT Y S we feat | T gEen figures which will continue the same series

& WA & AR @A
LR RCE]

ImfEs

(1) (2) (3)

/_A!|o A
o 0O | A (£ O

as given in question figures.
Question Figures

66.
O 4| (A O [0 _A |0 4] 1A O (0o A '

5 Answer Figures
i
L O (O U (L Al 1L O [£ O
(4) (1) (2) (3) (4)

11




67 S qvq fry Question Figures

o l lll

R CEoE Answer Flgurcs

H @ (3) (4) (1) (2) (3) (4)
68. Quesnon F1 1gures ,
: , Answer Figures
(D) "(2) | (3)“' (4) (1) (2) 3) (4) |
Question Flires
Answer Figures -

1) (2) | (3) , (4) o ® . 3) [(4)

‘-
‘ -v H -

o 4 Questwn Figures

"?l. IE

Answer Figures

f
]

(1) (2) (3) (4) O B ® (4)

12




71 HRIE %ﬁf o ﬁﬁ?ﬁ aae®? - 71. How many rectangles are there in the given
| figure? .

1) 7 2) 8 1) 7 2) 8
. 3)9 4) 12 39 - < 412
72 afe frdt 2 s A P 72.1f in a code language:
| 958 ThT Y % Hard Work Pays- 058 means - Hard Work Pays
" 786 1 7Y B Study Very Hard | 786 means - Study Very Hard
645 1 7 & Study and Work 645 means - Study and Work
; a1 fee "Very" %fa'qﬁ-q E L ¥ Then which number has been used for
- wEm s d? e o
17 2) 8 3)6 n7. - 2)8 3) 6
1) feu TFQ‘, <121 ¥ Fyuifa ==t e s 4) Cannot be determined from given data

ﬁé‘QT WA AT 73 @mH@T?s d& A& Directions: In each questmn from Q. No. 73
: goq § 9 fax fedt o1 fordt v @ to Q. No. 75, three figures arc alike in some

way, while one figure is different from

T &, Tafch T fert 3 ¥ frT /11 others. Identify figure whxch 1S dlfferent

§ WWW@W'@&?%I _ from others. .

| 73. IR R -
1 @ 3) - @ O @ (3) (4)

;. /4. l |

. ‘ ; '. l‘- : ' . . ' - — . : N - ‘ ;
: ‘ i ‘ 1 ‘ ' - ' ' .
vl b
) | '
n‘ } ' 2

T EC) A G
' BEee BEEE
n @ & @ H» @ e @
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feT: wew W 76 ¥ wywr W 78 7 fqr Dire

T e e @ 9 | et %o P
T U farar T £ | Pram @y g

A’ T v R wve forg & A W

A H G M ?

76.
H O R P ¢
ERO oS
OO ©

H4 @3 @S5 @E

77.
(1) 3 S 3
e ® 6 .
78. e
-
=]/ \]¥
(1) 25 2) 23
3) 27 (4) 30

79. T GRS 3= faemea &t geaa W
% 10 o SR fagr Fo@ H 14 TC B |
T A 5 ad feaa o fagm <A
I % €1 fraq agg shad faam e

a9 41 Had e O § qEHa e
1) 9,5 2) 14,9 ~
3) 15,19 4) 5,9

14

ctions: Observe the given Pattern‘
arefully in Q No. 76 to Q No. 78. Here®
some rules have been fol.lowed, Identify
the rules and find out which number will

i ?
replace the question mark :

C

(1) 25
(3) 27

79. A public high school has 10 members in its.

football team and 14 members in its science
club. 5 members of the school belong to both
the football and science teams. How many

members belong to only science club team
or only football team? '

b33 2) 14,9




P WA X

3

. ‘.‘W%s;ﬁh-‘;'lﬁ' o o LTI - R -l -;

- g0. AT W, TF TFe § 20 F==l & WA

iRl TR ®Y | St S of | 9t 8
T3 3 & orufem &, Tafe yoiE I
I T Afafea <itwar fivel | o= & 9
farator & foe fraht <fmat Sacerey off?
1) 40 2) 50

3) 60 4) 80

| 39T U9 HEAT 81 W WYH WEAT 84 th,

AT 3T Tk W fora & 3Ty A=A
s fIsa s T aaa SR S
Wmﬁaaﬁa&mai%%l

' 81. 991 9=

NI f§. Va7 TZ_

(1) (2) (3)

- 82. 9w o

]| Cl e

2| EEEE

1 @ 6 (4)

83. gy oA I aF

m @ & @

n @ 6 @

15

80. On Children's Day, toffees were supposed to
be shared equally among 20 children at a
school. However, 8 children were absent, s0
each child received two extra toffees. How

many toffees were available for distribution
among the children?

1) 40 2) 50
3) 60 4) 80

Directions: In Q. No. 81 to Q. No. 84, there is
a question figure on the left side and four

answer figures are on the right side. Select
the answer figure which is exactly the
mirror image of the question figure.

81. Q. Fig. Answer Figures

S} [S

Mm@ 6 @

82. Q.Fig. Answer Figures
T @ 6 @

83. Q. Fig. Answer Figures

E EV!TCEFFE!BVITCS‘FB EFFECTN3|3VIT'03113

nH @ & @
84.Q.Fig. - Answer Figures

Sl 23kl

@ 6 @




| : ion from 1
| . : octions: In each qucsflon Q. No.g¢ §

T o W 85 Ay wE 87 R WAE  VUC W0 g7 three pair of words are g, |

uvR F, ol % i e RRl A ® ) come way, while one pair is difger,, §

E WM, STafh U SIS QFil‘ﬁﬁF’T%' e-om others. Identify the word pair wp;, 1
\ I 71 WIS i Uga™ A qal a v is different from others. . |

- lr— A
iy l—— -

- g5. 1) Closc ' ° Open
| 85. 1) Close : Open . Bef
| - 2) After S Ciore
| 2) After - Bcfore | . O
| | o ' | 3) Big- : Large
3) Big - Large R o
2 - 4)Cold o Hot
4) Cold ¢ Hot MRS __ .
PP S 1)Chef & Knife
86. 1) Chef : Knife ” ) s B, S
o . . ilder = . - oDaw
- 2) Builder . Saw . A . . |
" ot T "} Chisel
3) Sculptor + Chisel .- 3) Sxulpter . - -~

B ‘ N ' - -t - Steth
4) Doctor =~ :  ~ Stethoscope .4) Doctor P _ 0Scope

87. DHigh - -~ = Low. = . e 1? iigh N fult il

" 2)Easy "+ Hard - | ~ 2)Easy -+ Hard
..3) Brave . - v . Coward - | ~ 3)Brave WAt Coward

4)Black ~  : °  Shiny ~ 4) Black o Shiny

88. 6 .+t 9o a"aﬁ@m'ﬂ@ﬁﬁﬁ'{ ) 88. After walking 6 Km, Rahul tarned fightand
' ' then walked 2 ' |
G O et x| e R AR 3R 10 ed 2 Km, A.fter that he turqed l.eﬂ :

for. Y. =1en | 3fd  afe 98 IR A ok 5 and walked 10 Km. Finally if he was moving
W1 A1 36 79 I o fen |/ ey towards the north, then in which direction

T _— | B ~ did he start his journey?
SRR DA L A . - }) South
2) IW | ' ;2).N0rth- |
3) 3@ 2 1\?8‘
4) fram - cst
16
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ﬁ%ﬂmm 89 W WYH WEAT 91 deh, Ueh Directions: From Q. No. 89 to Q. No. 91, a

v fax faar wan € etk = d=wfeus question figure is given and four
2 . < alternative answer figures are given. Find
&3 T ¥\ v o [ Toh <1 out how the pattern would appear when

ERIRCERS aREyit viE @ 1"\5@31}3% the transparent sheet in the figure is
i"@TﬂTFﬂ? @TWE{W%'&WW folded at the dotted line towards Icft.

feaTs qm

 89. 7 fom 89. Q. Fig.

Answer Figures

(2) (3) (4)

Answer Figures
|
@
| | |
| (1) (2) (3) (4) (D (2) 3) (4)
WA 91. Q. Fig. |
| o0 E . ® e 1 3
oo oo
Answer Figures
N . l
o .
(1) (1) (3) (4)

17




B e I A e ————

K

97 mﬁ . oﬁ 92. Shashi loves tO run. On weckdays he Starts
éigﬁl @W%lméﬁﬁ:ﬁ running at 5:30 a.m. He takes 3 rounds of

€ YT 5:30 T g YE F & | FE the park and finishes at 6:03 a.m. Oj
T & 3 R AT 31K g 6:03 ER| weekends he takes 5 extra rounds of the park.
a‘%mm%tmm%m@#s He always runs at the same speed. Op
AR T o & | 9% T T& & weekends at what time does he finish his
Tid / <rew } ) T § 9% f5w 9 running? ~
AL g ol e @ 2 1) 6: 25 a.m. 2) 6:58 a.m.

1) % 6: 25 95t 2) g7 6: 58 =T 3) 5: 58 a.m. 4) 6:15 a.m.
3)YIR5: 58S 4) AT 6: 15 A

(ME9T: W9 WEm 93 3T U9 W& 94131%51 Directions: In Q. No. 93 and Q. NO. 94
T IR o ¥ Qv fea & o AT Identify the missing part of the question

= , . figure and select it from given answer
TEE 3T IWET TaT i fauts .

Answer Figures

NI Y]y

) @) 3 @

NIao

1y @ 3G @

i IS IR

() @ G @ y
1 @ 3 @

95. WRURAR,, A,B,C3RD T dfda H s d  95. Four families A, B, C and D are living in
WRTIBFISH A #RD ¥ 1D F S houses in arow. B has A and D as neighbours.

Answer Figures

B3R C 81 A ¥ o7er § &l ar &7 5)1:?? B and C as neighbours. Who lives next
€ ) C

2) B . 2) B

3) D 3) D |

4) TH A I I 4) None of these

18




y
1

% X' 'Y 9REa Q70 wEl, 9% W f

& T Y ot @ 9 Ry, X ¥ fed
YR Hefig 82

1) Wi
3) IO Wi

2) ==
4) Tuan

' 97. W& ffv=d dem o wie 3k 3o+t € 9w

d 3NEH! w7l o1 @ R | afg e | aen
T W ) W& 72 ©, A 9% Sufed Sei
&1 &1 1A HL?
1) 10
3) 14

2) 12
4) 16

o8, T e § CORNER Y GSVRIV feram

ST © | 39 IS H CENTRAL $49 foran
S HHAT § 2

1) DFOUSBM
3) GJRYVEP

2) GIRXVEP

4) 39 | hIg &

ﬁém o WET 99 3T wew WE&r 100 #,
I+ feell § 9 a8 faseq §@ &g
oo woA fors Saeh YR & ®4 | iR

rq

99, 9% oA

HEEER

B @ 6 @

100 vy faa

I%IME 5%

n @ 6 ®

96. 'X' introduces 'Y' saying, "He is the brother
of the granddaughter of the father of my
father." How is 'Y’ related to 'X"?

1) Brother 2) Uncle
3) Cousin 4) Father

97. A certain number of horses and the same
number of men are going somewhecre. If the

number of feet walking on the ground is 72,
then find the number of horses present there?

1) 10 2) 12
3) 14 4) 16

08. In a code CORNER 1s written as GSVRIV.
How can CENTRAL be written in that code.

1) DFOUSBM 2) GIRXVEP
3) GJRYVEP 4) None of these

Direction: In Q. No. 99 and Q. No. 100, find
out the alternative from answer figures
which contain question figure as its part.

99.Q.Figures Answer Figures
0@ X
H @ G @
100. Q.Figures Answer Figures
O @ 6 @
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